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QUESTION 1

Mark works as a Programmer for InfoTech Inc. He develops the following deployment descriptor code. 

 

 

java.lang.Throwable 

 Error.jsp  

 

 

 javax.security.auth.RefreshFailedException  

RefreshFailed.jsp  

 

 

Which of the following statements is true about the deployment descriptor code given above? 

A. It is not possible to declare two error-page code in the web-app element. 

B. The error-page element does not belong to the web-app element. 

C. Any exception other than RefreshFailedException will display the Error.jsp page. 

D. All exceptions will display the Error.jsp page. 

Correct Answer: C 

 

QUESTION 2

Which of the following methods must be implemented by each subclass of the Permission class to compare
permissions? 

A. hashcode 

B. implies 

C. newPermissionCollection 

D. equals 

Correct Answer: B 
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QUESTION 3

Which of the following init() method calls initializes a cipher object with a key in the SECRET_MODE? 

A. cipher.init(2, key); 

B. cipher.init(1, key); 

C. cipher.init(3, key); 

D. cipher.init(4, key); 

Correct Answer: C 

 

QUESTION 4

Which of the following roles will release a servlet instance for garbage collection after the destroy method completes? 

A. Deployer 

B. Container 

C. Provider 

D. Assembler 

Correct Answer: B 

 

QUESTION 5

Mark works as a Programmer for InfoTech Inc. He develops the following program. 

class iftest2 

{public static void main(String args[]) 

{int x=0, y=1;if //code//{System.out.println("true");}}} Which of the following if statements are illegal if they 

are placed at //code//? 

A. (y == true) 

B. (1) 

C. (x == false) 

D. (x == 1) 

E. (x) 

F. (x != y) 

Correct Answer: ABCE 
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